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What does the box in a box plot represent?
Response:

A. Maximum extent of the data

B. The range of the middle half of the data points
C. The median of the middle half of the data points
D. The outliers of the data

Answer: B

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

Find the customer with the lowest overall profit. What is his/her profit ratio?

Response:

A. 2.35%

B. 1%
C.-17.54%
D.-771.39%

Answer: D

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

Look at the sum of profits for each Product Sub-Category. Which sub-category is $31,069 below the
average profit across all categories?

Response:

A. Appliances
B. Bookcases
C. Envelopes
D. Paper

Answer: C




The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

Determine which State in the Central Region has the highest distribution of profits using interquartile
ranges.

Response:

A. South Dakota
B. North Dakota
C. Minnesota

D. lowa

Answer: A

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

What percent of the total profit do the top 10 customers by Sales represent?

Response:

A. 3.50%

B. None of the Above
C.17.54%

D.5.03%

Answer: D

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

In which Region do all Product Categories fall beneath the overall average profit?

Response:

A. All Regions
B. Central

C. East

D. South

E. West



Answer: D

Tableau can create worksheet-specific filters.
Response:

A. True
B. False

Answer: A

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

What is the percent of total Sales for the ‘Home Office’ Customer Segment in July of 20127?

Response:

A.23.97%
B. 23.50%
C. 20.14%
D. 32.56%

Answer: A

The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

In the Technology Product Category, which unprofitable state is surrounded by only profitable states?
Response:

A. Colorado
B. Missouri

C. Wyoming
D. Utah

Answer: A




The following questions use the dataset Sample-Superstore Subset (Excel), which can be downloaded
here. If you are unable to download the file, try accessing it from another internet browser.

If 2013 Sales numbers were expected to increase by 50% in the following year, what would be the total
estimated sales for the Consumer Segment in 2014?

Response:

A. $4,278,540
B. $816,999
C. $2,752,823
D. $802,365

Answer: B




